
1

NO. Qty.

2

1

3

JCBB Screw M6 x 35mm / Vis

4

Thank you for purchasing this product. Please take time to read and follow the instructions below. Check that
you have all parts and hardware before assembly.

Merci d’avoir acheté ce produit. Veuillez lire et suivre les instructions ci-dessous. Vérifiez avant le montage que
vous avez toutes les pièces et fixations. Les pièces qui semblent manquer se trouvent souvent dans les
matériaux d’emballage. Si vous n’avez pas toutes les pièces de la liste, demandez à votre détaillant et nous
vous les enverrons immédiatement.

CAUTION :  (1)   DO NOT FULLY-TIGHTEN THE NUTS OR BOLTS INITIALLY UNTIL ALL THE NUTS AND BOLTS
 ARE IN PLACE. (TO AVOID CAUSING DAMAGES TO THE THREAD, DO NOT OVER-TIGHTEN
 THE NUTS OR BOLTS.)

 NE PAS SERRER LES BOULONS JUSQU'À CE QUE LE MONTAGE SOIT COMPLETMENT
 TERMINE.

 (2)   KEEP ALL HARDWARE PARTS OUT OF REACH OF CHILDREN.

 GARDER TOUTES LES PIÈCES HORS DE LA PORTÉE D'ENFANTS.

JCBC Screw M6 x 45mm / Vis

Spring Washer M6 / Rondelle D'Arret

Flat Washer M6 / Rondelle Plate

Lock Pin Set / Broche De Verrouillage 

A

B

CE

D

PAGE 1 OF 2 / PAGE 1 SUR 2

1

NO. Qty.

2

1

3

JCBB Screw M6 x 35mm / Vis

4

Thank you for purchasing this product. Please take time to read and follow the instructions below. Check that
you have all parts and hardware before assembly.

Merci d’avoir acheté ce produit. Veuillez lire et suivre les instructions ci-dessous. Vérifiez avant le montage que
vous avez toutes les pièces et fixations. Les pièces qui semblent manquer se trouvent souvent dans les
matériaux d’emballage. Si vous n’avez pas toutes les pièces de la liste, demandez à votre détaillant et nous
vous les enverrons immédiatement.

CAUTION :  (1)   DO NOT FULLY-TIGHTEN THE NUTS OR BOLTS INITIALLY UNTIL ALL THE NUTS AND BOLTS
 ARE IN PLACE. (TO AVOID CAUSING DAMAGES TO THE THREAD, DO NOT OVER-TIGHTEN
 THE NUTS OR BOLTS.)

 NE PAS SERRER LES BOULONS JUSQU'À CE QUE LE MONTAGE SOIT COMPLETMENT
 TERMINE.

 (2)   KEEP ALL HARDWARE PARTS OUT OF REACH OF CHILDREN.

 GARDER TOUTES LES PIÈCES HORS DE LA PORTÉE D'ENFANTS.

JCBC Screw M6 x 45mm / Vis

Spring Washer M6 / Rondelle D'Arret

Flat Washer M6 / Rondelle Plate

2042NBF-1/-2/T-3 - FULL BOOKCASE BED

2042NBF-1 - FULL HEADBOARD - BOOKCASE / T TE

A

B

CE

D

PAGE 1 OF 2 / PAGE 1 SUR 2

Printed with FinePrint trial version - purchase at www.fineprint.com



6
D

D

5
2

2

4

3

STEP 1 / ÉTAPE 1 :

STEP 2 / ÉTAPE 2 :

STEP 1.1 / ÉTAPE 1.1

STEP 1.2 / ÉTAPE 1.2

STEP 1.3 / ÉTAPE 1.3

STEP 2.1 / ÉTAPE 2.1

STEP 2.2 / ÉTAPE 2.2

BOTTOM VIEW / VUE DE

DESSOUS

PAGE 2 OF 2 / PAGE 2 SUR 2

6
D

D

5
2

2

4

3

STEP 1 / ÉTAPE 1 :

STEP 2 / ÉTAPE 2 :

2042NBF-1/-2/T-3 - FULL BOOKCASE BED

2042NBF-1 - FULL HEADBOARD - BOOKCASE / T TE

STEP 1.1 / ÉTAPE 1.1

STEP 1.2 / ÉTAPE 1.2

STEP 1.3 / ÉTAPE 1.3

STEP 2.1 / ÉTAPE 2.1

STEP 2.2 / ÉTAPE 2.2

BOTTOM VIEW / VUE DE

DESSOUS

PAGE 2 OF 2 / PAGE 2 SUR 2

Printed with FinePrint trial version - purchase at www.fineprint.com



1

NO. Qty.

2

3

4

Thank you for purchasing this product. Please take time to read and follow the instructions below. Check that
you have all parts and hardware before assembly.

Merci d’avoir acheté ce produit. Veuillez lire et suivre les instructions ci-dessous. Vérifiez avant le montage que
vous avez toutes les pièces et fixations. Les pièces qui semblent manquer se trouvent souvent dans les
matériaux d’emballage. Si vous n’avez pas toutes les pièces de la liste, demandez à votre détaillant et nous
vous les enverrons immédiatement.

CAUTION :  (1)   DO NOT FULLY-TIGHTEN THE NUTS OR BOLTS INITIALLY UNTIL ALL THE NUTS AND BOLTS
 ARE IN PLACE. (TO AVOID CAUSING DAMAGES TO THE THREAD, DO NOT OVER-TIGHTEN
 THE NUTS OR BOLTS.)

 NE PAS SERRER LES BOULONS JUSQU'À CE QUE LE MONTAGE SOIT COMPLETMENT
 TERMINE.

 (2)   KEEP ALL HARDWARE PARTS OUT OF REACH OF CHILDREN.

 GARDER TOUTES LES PIÈCES HORS DE LA PORTÉE D'ENFANTS.

JCBB Screw M8 x 25mm / Vis

Spring Washer 5/16" / Rondelle D'Arret

Flat Washer 5/16" / Rondelle Plate

5

2042NBF-1/-2/T-3 - FULL BOOKCASE BED

2042NBF-1 - FULL HEADBOARD - BOOKCASE / / T TE

2042NBF-2 - FULL FOOTBOARD W/SLATS ROLL/ SUPPORT LEGS / PIED DE LIT ET LATTES -

 LIT DOUBLE

2042NBT-3 - TWIN/FULL SIDE RAILS / LONGERONS DE C T S

PAGE 1 OF 2 / PAGE 1 SUR 2

Printed with FinePrint trial version - purchase at www.fineprint.com



2 3

15

STEP 1 / ÉTAPE 1

C

4

Detail-A /  Détail-A

Detail-A / Détail-A

PAGE 2 OF 2 / PAGE 2 SUR 2

C

E

2042NBF-1/-2/T-3 - FULL BOOKCASE BED

2042NBF-1 - FULL HEADBOARD - BOOKCASE / / T TE

2042NBF-2 - FULL FOOTBOARD W/SLATS ROLL/ SUPPORT LEGS / PIED DE LIT ET LATTES -

 LIT DOUBLE

2042NBT-3 - TWIN/FULL SIDE RAILS / LONGERONS DE C T S

Printed with FinePrint trial version - purchase at www.fineprint.com


